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fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
IENE AbE 10. 00 | #H%F 90 900 1,458
H X k¥ 15. 00 | ¥ 630 9, 450 756 538 11
X 5D BOE 10. 00| AH%F 550 5,500| 1,048 757 432
E O NAK E ¥ 4. 00 | FHxF 40 160| 4,104| 3,709| 1,037
H % i 3. 00| FHxf 74 222| 1,404 989 432
i A ] 1L 1. 00| FHxf 135 135 540 432 324
= 1| 5.00 Mixk| 15 75| 1,890 1,692| 1,350
A w5 5. 00 | FHx} 458 2,290 1,728] 1,450 864
ENIE 0.50| k%t |  sso| 90| 151 03] 76
= m | 0.40| kx| 3,140 1,256 151 135 86
= %O 4. 00| AHxf 1, 150 4,600 1,620 1,172 756
[ 1N 5 5. 00| FHxf 203 1,015 1,620 1,277 864
EN R 500 #A%k| 1, 141] 5,705| 1,836 1,351] 810
v—< = 0. 15| FHx} 4, 320 650 59 54 49
A7 k= b AbiEiE 3. 00| FH%f 541 1,623 2,592 2,097| 1,404
ot E AL E 0. 10| FH%f 200 20 151
H ik w5 5. 00| FHx%f 214 1,070 2,160 1,923| 1,404
FEEnsE JbifgE 10. 00 | Hx%f 75 750 1, 404
E ¥ AbifEE 10. 00 | #85f 560 5,600 3,240| 3,001 2,052
£ A L 10. 00 [ #H % 829 8,290 2,160| 1,988| 1,296
LA R 5 % 10. 00 | #H%f 920 9,200 1,512| 1,264 972
==L H A £ ¥ 4. 00| FHxf 630 2,520 1,782 1,103 540
T AR % 0. 10| FH%} 1,010 102 119 104 49
Tuyal— E % 4. 00| fHxf 60 240 2,268
L xoHn TS 4. 00 | FHxF 3 12 3, 024
AEMEE O 0. 10| #Hf | 3,750 375 140 105 54
ZDEHE £ ¥ 0. 20 [ A%} 600 120 66 43 28
LU 5 % 0. 20 | FH%f 150 30 81 59 27
AA fa—v £ ¥ 5. 00 [ #H %} 520 2,600 1,825| 1,514| 1,296
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Yafa— H & 10. 00 | #H%f 857 8, 570 4,957
=K w5 10. 00| AHxf 375 3,750 7,020 5,959 4,536
e i SR 10. 00 | ¥ 122 1,220 8,100 7,144| 5,400
PE A 5. 00| FA%f 130 650 2,484| 2,141
EOlg X K 0. 35| FHx} 280 98 497 418 324
% A4 0. 50 | FHxf 1,728 864 378 368 356
AR Ak L 0. 30 [ #Hx%} 1, 056 317 378 320 216
/NETE K B AR 10. 00| FA % 536 5,360 4,536| 3,864 2,376
A ava 7 4 U ¥ | 13.00]| fHxf 5 65 2,376




